Ratio to ATLAS

[EEY

0.5

8000 GeV pp Z (Drell-Yan)
o L L L O IO L B B =
= y'(116 < m < 150 GeV) .
— N [ [ | [ ] ] n 1
- ® - - $--B--- - - =‘===::‘=:==.... u —

& - Q---- B-- B--g-- - a.:_yg. =
L IS T .
B,
AN |
m  ATLAS AR
— _.5- Pythia 6.428 391 L
— - - Pythia 6.428 393 S —
B ®-- Pythia 6.428 394 N
| --¥-- Pythia 6.428 395 L
_l | | | | | | | | | | | | | 4+ 1 | | | | | | | | | I_
:l T T T T | T T T T | T T T T | T T T T | T T T I:
oEE TERCR IEEERE TEIEEE TILAL SEEEES SEEERT hh bl SLEETS SR -
| N T A - _.a--- T ---- - -&F--— &3 —-._. B--—" g n

| 1 1 1 1 " | 1 1 1 1 | 1 1 1 " 1 " | " 1 1 1 1 " | 1 1 1 1

0 0.5 1 1.5 2
ly . |

ellell

Rivet 3.1.10, = 2.5M events
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